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H,+BS=H,+F.S=H,=H,+(BS—F.S)
H, =550+ (0.450 — 2.350) = 548.10
AH,,,=H,—-H,=BS—F.S

AH,,, =0.450—2.350 = —1.90m
AH,,, =548.1—550 = —1.90m
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He—H,=> BS-> F.S

98.17-100=1.324-3.154
—1.83m =-1.83m
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He—H,=> BS-> F.S
98.17-100=1.324—-3.154
—1.83m =-1.83m
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f=>BS-> FS=

f =17902-17918 = -16mm

A
B
C
D
E
F
G
H



A
B
C
D
E
F
G
H
A

1650.000
1651.125
1651.335
1650.540
1648.682
1648.767
1649.191
1649.8179
1650.000
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BM1

1.245

1746.245

1748.030

1750.910
1752.242

1745.000
1744.869
1743.855
1744.760
1746.150
1747.440
1749.777
1751.348
1750.177

1745.000
1744.866
1743.852
1744.757
1764.144
1747.434
1749.768
1751.336
1750.165
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